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The symbol for a winngle is denoted by:
it b iy b T . L S R ——
A oo 5 = b Sebid el l
Diameter Center * Chord secant_ A cuele has only ong;
Rhdalis? 2 o —
S g N e il FonEe Lopugd p @ dotinldl
: 5 o Perpendi- Alicayes opposite to incongruent central angles of a !
‘Incongruent,  Parallel i Congruent’. 2 oot are always:
e W - o NS R -
o taEeE v E o 8ol
~ Y e X = L i
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, d 3 2 /»“\,;‘1?,'/ The number of terms in a standard quadratic equation Y
| ) Fay? < b s
: ‘@ X +bare=00s
' o Fyad . »
. HORUREN A B Sl L | JER T :
1.5y . U | 2.3} i, 2} e 10 |
, The solution set ot the equation \* =3x+2- (¢ i j
] 1 . S |
2 B O LIRS | 1
—l.—w, - | R —-I,-—u).u)z o o I

Cube roots of -1 are:

' ) atan S INT TNl = )
41 -1 4l Mo e MR
: : ; ‘The discriminant of the equation 2a" ~7x+1:0 st
l : i ¢ g N 1
f | ‘ ' SRR A T 1" I |
§ i i . . . . ' - !
! ; Sum of the cube roots of unity is:

. o " - o T
: X 1 vy YV Y Jen \\.‘,.. MR VAR '.) SEVIW g
Wooo X } v The fourth proportional w of N1y T viw s
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: & g
An improperl A constant . — A proper 3 )
‘ iy {) P ; . An identity “ *t} X+ ke
raction ;  term | raction W(x Thx+D)

1013-X124-85000 V-

NI 502 S DL LEAVIVIVAY

v ;




)
:" 7 finctiz
!['}«\ LL:._:?'/ (dblﬂ)(u_ w(j‘aLJ 1013-X124
;k CRO-1~2 6048 2 02:10 5
S (Part-1 ¢ fifm?) \
% 12 Write short answers to any SIX parts. _gﬂ_,u; ALz ;‘—_‘j/ ,
¥ Define exponential equation. “Ei el @)
):L Solver x%42x=2 x2eax=2 L G
E Solve the equation by using quadratic furmula: 582 +8x+1=0 :;::’J.»,Ja.&'éummn.ufu,v Gii)
E Find the discriminant: 9x% + 25 = 30x 9x? +25=30x :é’,’.fpl"wlﬁ/' Gv)
Lvaluate: (9+dw+dw®y* 9+ do+ do?y wFebad ()
S Write the quadratig equation have thesc roots: 2, -6 2, -6:&chiin »d"ujviz_,: (vi)
X Define proportion, -y St (vid)
*(I\ If )_‘oc‘—l and y =4 when x = 3 find k, (:*’" kisx =3 2y=d myc »—/’A(\'m)
g_\\-.*, Find a fourth proportional to: 15a%b® . 10a2° | 21a%b? 152°b% , 10a°b° |, 21ab’ :._;,:(:’“‘;,.—PB); (ix)
ﬁ\ 12 Write short answers to any SIX parts. el Ty é:f!flic.éf
1%‘ Define rational [raction. u'/’d/ ()
)(, = jl\x‘\g’_ = \’: cr D find Aand B, e B A ;’:ﬁ%ﬁ’ﬁ“*%ﬁ o)
.: Define bijective function, Lo JJ‘LM..JI. Gii)
]: R = (V) X+ ¥ 6] &tehof M ={v|]yePay<lOat L={x|xeNaxsst A GV
1 ITL={xixe NAxs S and M={ylyc PAy<10} then make relation R = {{X.y)|x+y =06}
e TS PRy y=x el WaeAye Bl A={l. 21 B={2, 3} ()
\ ITA={,2}, B={2, 3pand F={(x,y)]y=x tl. ¥xe A ye B} find Dom {and Rang I
X M A-BTeA (L 23 4 5 6L B2 4 6 81 ()
IfA={l, 2,3 4,5 6}, B={2 4. 6. 8)find A -
%\Q Define class limits, -.;:f...z'f\,‘}mé’\r. Cvii)
§R Find the median: 12, 6,7, 3, 15, 10, 18, 5 12,6, 7. 3,15, 10,18, 5 125 o (i)
};‘ Iind Harmonic mean; l‘ ] 12 l 5 I 3 I } X l 12 } 5 l $ —I 4 ; :.ﬁ:‘;’rf(:“‘b»ﬂJﬁ(? (ix)
?— 12 Write short answers {o any SIX parts, ,3‘_'.,;-4;,3,2? Z..mga..df wl
;:4, How many minutes arce there in twao right angles? . -’fu'l:‘d-ﬂ v"u:uzuﬂu« » (D)
E Convert %md to degree, NN Zsﬁmd (i
Find 0, when ¢=Y%m , r=>5cm £x9em . r=Sem £EA0 (i)
’ Prove that: _1——:«:16;§+ ']—;E%;b— = 2cosec’d l*:é‘-’—;—é ﬁgg‘é = 2cosec?0 g,,..,». (iv)
‘ Define chord of circle, AP NSV N )
b (etf?)
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Define non-vollinear paints. ﬂgD ’/ '_% & .
s 25 AT 0 (i) :

Define in-center
& g 5 v
Ey Sl e i)

S HelE 1 Sem JLJ\,(CL"LJ‘:(‘",{! (ix)

asure ils perimeter.

Define radius ol eircle.

The fength of each side ol a regular octagon is S¢m me
g 9 /" U’..u" ¥ 08 (db‘/.. //.aU:’LuUU’J 4‘-(3’( rl)ﬁ,._v"

P,ut - 11, Attempt any THREE guestions. Eanch question carries 08 marls.
Question No. 9 is compulsory

2 | 2 1
04 Solve the equation: X'+ 54 = 1587 K 158=15x0E e (L) 3
0d -u:fc“ =a (I +m )/l;._.u;‘/t Ju....\ } (m\ + L) =1 ul~b~J E =i (.,
Show that the equation X -»'r(mx-r-c) 2 has equal roots if ¢™ =2 (l+m )
04 Su=0aad: ,’:"” wiru=3.6w=5 /'I)*-'J);‘/:ﬁ&-(‘([- wfw A 6
If w varies inversely as the cube of u and w = 5, whenu = 3. Find w when v =0,
04 Tind the partial fractions ot —— S “ s 3\41 A Gz (L)
(x + :;)(\ +1) (xN+ 3)(\ )

SEetinB={2357 A={,3.57.9} U= (1,2,3.4.5.6,7.8,9. 1041 () 27
(ANBY =AU

04
IfU=11,2.3,4,5.6,7, 89, 10} A={1,3, 5, 9B~ {2,3.5,7} then verify
(AﬂB) =A'UB
04 g_r,.“’}" ] )ﬂ" Jv""-._.b".’k/l JL‘U ‘{’, 32 (u)
The length of 32 items are given below. Find smndard dcw.xium )
fLwom du 20-22 [ 23-25 | 20-28[29 31| 3234 |
l Irequency = u»’ 3 6 12 9 ‘ 2 ;
04 -Q;f(:""w’— J’juﬂ}gr‘dg?::ét Sl A AGEED i cos - _’T 2 S .8
[f cosO = dnd terminal arm of angle 8 s in quadrant IL. Find the values of remaining

tugononmrlc ratios.
04  Draw two perpendicular tangents to a circle of radius 4em. WL Jb’.)-r‘ v 4 (L)

-

-t ';a”'J st 'f' oz /....c../'*f‘._,../,»" Y
Prove that perpendicular from the center of a circle on a chord biseet it.
—— OR L
-./.:_L“rl,f:' .:.....:lu"’{[-* Ad G LN S /'Uh.._......_-f“\, Sty f
Prove that thc measure of a central angle of a minor arc of a circle. is double that of the ang?la.

subtended by the corresponding major arc.
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Kb 20 d fmar S S B SMLS, 2IUsI ikl s A e it/ A 0i 3o 1
L b C B A Questions / Uiy L 84
 ANB=¢ | BNA=A | BNA=B | ANB=U Il A=BS
. If B—A =B, then:
i :ﬁ:_(jn)l»JJu:E’)J‘ZLL/UQ:ﬂL:
| I “ = 4 The different number of ways to describe 2
— . __lasetare:
! K(J)L‘Lt‘ 'é'lu,i)"lj | b’u;’f/' KL)J&'IJV I,Lﬂ”/ﬁ;,_,y,f ﬁ’;ﬁkjﬁ 3
{ . . ~ ' ¥
| Triangles | Circles Squares Rectangles | A histogram is a set of adjacent:
L 1S
' ds 1 g2 2 ! L ;
D aees () T 3 A ceval ) 4 —— 22 it
3 Zsec” 0 2cosec”t) i 2s8in“ 0 2c08° 0 st T TosmB
; | ‘?‘:"..L"J?’c;—gjfl,l‘éi(;pﬁ"é‘fo?i)‘i ‘
‘ 0 ] 3 ? Ty ; B Tointe 5
‘ Through how many non-collinear points, |
| i __icanacircle pass: !
oo ddlel L3614 b 32426 1 3400 N 6
! N e R
i N { . ) Zf?:.L"n,;l)d//b’L;v&wagf_/’b
; 270 180 360 90° The semi circumference and the diameter | 7
j of a circle both subtend a central angle of:
! ) gt v S E Lyt by
! l 3 ¥ 2 How many common tangents can be §
o drawn for two disjoint circles? o
TN vt PR el IO V., \ M et ]
1‘ = 0l - fem b W | YT ¥ 22 |The quadratic formula is: 7
i o Y Wl T A
D ox+T x4+8 | x=7,x-8 | x+7,x-8 | x—=7,x+8 WALl 155456 10
| Two linear factors of x% ~15% -+ 56 arc:
5 T+d3
| W’ o=
' [4ul=d | =]=+/-8 ’ 2
| I -1 & = | 3 oS 1
‘ |‘ “ ; If o=— +2 22 then o =
{
- ” . - . [ o
By P Pl G WS nL A =5x 42 =00l
|___Equal Rational Iimaginary Irrational | Roots of d4x? ~5x +2 =0 are:
| bl % éi_ i P Ay
\ x4 x? y! y The third proportion of x? and y? is:
f /
! Hw % = \\T =k i
' ue=wkd u=vik? u = vk u=wak? o 14
, If —=—=k, then:
| VW .
i -M.YJ%J(J__,,____ //LfJZJ (;ﬁ#}\]__‘l‘)‘
| A, C A B AL B A B 2 5
* X+t x-l1 R e T x+1 x-1{Partial fractions of -—- are of
' (x+D(x=1)
! the form:
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12 Write short answers to any SIX parts. _éayli/ﬁ L,lZl;ga..G/ \
2 L =
Solve the equation 3y~ = ¥(y —5) by factorization. _C{J’d/ Y, 3y = y(y = 5) i (i)
PR T ] ,

Write in standard form: i 3 A -—-—E =3 @l g P lmsants (i)
Define radical equation. .s'g.élf"'\}/alﬂ/d/ig (iii)

Find discriminant: x> +3x +35=0 X2 43x+5=0 ._:';r(&l”‘s,vfj/ Giv)
Evaluate: (1 -30-30%)° (1-3w-30?) :gepred (V)

Form a quadratic equation with roots 3 and . <Ust 4 3 (Roots) J.' S ezl Gy (VD)
Define ratio. 2w Ffe (vid)

Find the third proportional to o ,3:12 -g.‘é:("b’..,/kfl/f( 2t 3al (viid)

Find p, if 12, p and 3 are in continued proportion, e p ?uxgﬁ'ubﬁ)’v IJup.i2 G

12 Whrite short answers to any SIX parts. -Jugvy;-’ L,lilgc.&y(
Define rational fraction. L AP IRO,
5x+4 A B -

s =
Ee U B A D D Sl 63

5x+4  __A

~dD(x+2) X~ 4 Imd the values of A and B,

o XUY 3 Y = {204, 5,9) o X = {Lo 7910 G
IEX=1{1,4,7,9  and Y = {2, 4, 5,9} then find XUY.

e XY I Y w8012 2 X LA 2011 Giv)
FX=12,4,6....,200and Y = {4, 8, 12,...., 24} then tind X ~Y.
Findaand b, if (a=4,b~-2)=(2, 1) (a-4.b-21=2 1 A "{*‘i‘" bata (v)

e «{,,wk,,,w_ w L x M e M= {d, e fg) L= fab, NP
1= {a b,c)and M = {d. e, [, g} then find two binary relations in L * M.
Define a subset and give an example. IR al_yp Sard (viD)
Iind the arithmetic mean: 202 , 225, 350 , 375,270, 320, 288 gk o bt (i)
Define median. BEASTY N ST P
12 Write short answers to any SIX parts. .éa.guz/‘" L;&zx.;c...éf !
Define degree. -.z,é& FAR IO
Convert -]-i% into degree. e e/ 128 'h G
Find r, when {=4cm , 0=~14- radian 0= % fise € = 4om ,éf_%,{(:‘*‘r (iif)
Simplify: tan"0+tan*0 ant 0+ tan 0 A (iv)
Define sector of the circle. ‘_:;{_,é,/\?J/;_CLd,, o
(ﬁ’-—k’/&r)
/4
— //
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(AUBY=A'NB' & wiin B =

.. ng" 2 '“)/9
Differentiate between minor arc and major are of a circle. -g,fwg:&)u:gj?;/ﬁ?,u;",ﬁflu:,;;,,,g. (vi)
- A8 g A (ViD)
ey Sl 2 i)
e b 3 AT LG D G
The length of cach side of a regular octagon is 3em. Measure its perimeter.
et @ Ao s 08 [.J!r/:*;q{4f¢/giﬁLaulrufadfcrfa:,ﬁ
Part - 1I, Attempt any THREE questions. Each question carries 08 marks.
Question No. Y is compulsory A
Solve the cquation: Bx+100 -x =4 Px+100 —x =4 2 f Sl () .5
_.-5“:..{{':1"':!/&!-‘;_ 182 yﬂfw’:ww,idyn Covertd

The product of two positive consceutive numbers is 182. Find the numbers.

Define cyclic quadrilateral.

Define polygon.

e d L e ST T m-3,28 () 6

Find the value of the letter involved in the 7, m ~ 3, 28 continucd proportion.

Resolve into partial fractions of: w{};l?l__ ~—~§—‘3—:-1;L———55’5 Y e (L)
(x+3)x"+1D (X +3)(x"+1) '

i

2 3.5, TV e A={1.3. 5. 7.9) (U1, 2.3,.... 10} () 7

]
12
fU=141.2,3,...,10},A={1.3,579}, B={2. 3.5, 7Y then verity (AUBY = AN
-{:((:WJI | A1 Aot 11500, 12400, 15000, 14500, 14300 (ul’u,;'u)g,mf Jgfwé L ()
The salaries of five teachers in Rupces are as-11500, 12400, 15000, 14500, 14800. Find
standard deviation.

=

WS et £ . . ; -12 3
~._-:;_fp"‘u:"3 SFEAL S 0¥ s cos0 > 0 aisin0 = -é—» S 8

H

.- -12 6 5 e .
I sin® = —=and cos0> 0. Find the remaining trigonometric functions.
13
,g‘:fgvvﬁf‘s)ﬁwr-w( 4073 V’b:é:\,‘,-fl:i_.)rl'./bb’n ()

Draw two common tangents to two intersecting circles of radii 3cm and dem.

e i fie i A St 9
Prove that one and only one circle can pass through three non-collinear points.
—- OR | -
-c‘:.\‘.‘ﬂ%:&-::l}/r’;L;,JJJW(;‘:,JU:JU;’ :a)f)d)(/ Ul:éf@sﬂ,’j"vf};gﬂ (_.-J;l)ojf;':&;f'
Prove that the measure of a central angle of a minor arc of circle. is double that of the angle
subtended by the corresponding major arc.
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